
KAWASAKI MULE 610
Plow Mount		  PART # 105470
			   Hardware Kit: HK-145 

Kit Components:
Qty.	         Part Description

1................. Plow Mount Plate
2................. 5/16”-18 U-Bolt
2................. 5/16”-18 x 1” Hex Flange Bolt
2................. M8-1.25 x 30mm Hex Flange Bolt 
6................. 5/16”-18 Hex Flange Nut
1................. 12” Soft Loop Strap

INSTALLATION INSTRUCTIONS:

1.	 Install winch mount (100575) and winch per 
instructions included with the mount. 

	 Note: Do not install the lower winch bolts or 
roller fairlead until plow mount is installed. If 
plastic is removed be sure to reinstall before 
installing the plow mount.

2.	 Place plow mount plate over lower front bumper 
and install fairlead and plow plate using the M8 
Bolts provided with the plow mount. See Figure 
2. 

3.	 Install U-bolts using the Flange Nuts provided 
with the mount as shown in Figure 3.

4.	 Tighten down all bolts.

5.	 See UTV Plow Tube System instruction manual 
for tube attachment.

“Figure 2” Mount Plate and Fairlead Install

“Figure 3” U-Bolt Install

“Figure 1” 

©2012 Copyright Kappers Fabricating, Inc.   All rights reserved

Requires Winch Mount Pt.# - 100575



TH
IS	M

O
U
N
T	RECO

M
M
EN

D
S	A	PLO

W
	PU

LLEY

W
H
EN

	TH
E	W

IN
C
H
	FA

IR
LEA

D
	A
N
D
	PLO

W
	

PIN
	PO

IN
T	A

R
E	C

LO
SE	TO

	EA
C
H
	O
TH

ER
,	

IT	C
R
EATES	A

	SH
A
LLO

W
	LIFTIN

G
	A
N
G
LE.	

B
Y
	A
D
D
IN
G
	A
	PU

LLEY,	Y
O
U
	A
R
E	

C
H
A
N
G
IN
G
	TH

E	W
IN
C
H
	A
N
G
LE	TO

	A
	

M
O
R
E	V

ERTIC
A
L	LIFTIN

G
	PO

SITIO
N
.	TH

IS	
W
ILL	PR

O
V
ID
E	LESS	STR

A
IN
	O
N
	TH

E	
W
IN
C
H
	A
N
D
	EN

TIR
E	PLO

W
	SY

STEM
.

W
H
Y	U

SE	A	PU
LLEY

?

1

2

3

p
o
s
s
ib
l
e
 P

O
S
IT
IO
N
S

*STA
N
D
A
R
D
	FA

IR
LE

A
D
	PU

LLE
Y	R

E
Q
U
IR
E
D
	

F
O
R
	A
LL	PU

SH
	TU

B
E
	A
PPLIC

ATIO
N
S*

LIFT	H
O
O
K
	

PO
SITIO

N
ED

	FO
R
	

EX
TR

A
	SU

PPO
RT

12"	SO
FT	LO

O
P	

STR
A
P

H
O
O
K

W
IN
C
H

PLO
W
	FA

IR
LEA

D
	

PU
LLEY

PIN
	PO

IN
T

12” SO
FT LO

O
P STR

A
P W

R
A

PS A
R

O
U

N
D

 BU
M

PER
 O

R
 

SO
LID

 A
N

C
H

O
R

 PO
IN

T A
BO

V
E PU

LLEY.

12"	SO
FT	LO

O
P	

STR
A
P

H
O
O
K

W
IN
C
H

PLO
W
	FA

IR
LEA

D
	

PU
LLEY

PIN
	PO

IN
T

-	A
LU

M
IN
U
M
	R
O
LLER

-	STA
N
D
A
R
D
	O
R
	W

ID
E

SYN
TH

E
TIC

	R
O
PE

	PLO
W
	FA

IR
LE

A
D
	PU

LLE
Y

-	R
EC

O
M
M
EN

D
	A
	PU

LLEY
	AT	TH

E	W
IN
C
H
	A
S	W

ELL	A
S	PU

SH
	TU

B
E.	

V
IEW

	EX
A
M
PLE	B

ELO
W
.

-	STEEL	R
O
LLER

-	STA
N
D
A
R
D
	O
R
	W

ID
E

STE
E
L	C

A
B
LE

	PLO
W
	FA

IR
LE

A
D
	PU

LLE
Y

o
r


